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Algorithm 2: Stability Feasibility Algorithm (Part (m + 1) is the remaining part)

m+ 1 is the length of the remaining assembly subset (i.e., to evaluate the feasibility of the m!
part in the sequence), N = the total number of parts, temp_stability_matrix will be initialized to
the stability matrix before calling for the first time, and S = the disassembly sequence.

Step 01: part_id = S[m]

Step 02: temp_stability_matrix[part_id][]= 0

Step 03: temp_stability_matrix[ |[part_id] = 0

Step 04: For k=m+1 to N

Step 05: next_part_id = S[k]

Step 06: if temp_stability_matrix[|[next_part_idlisallzeros
Step 07: return infeasible

Step 08: end if

Step 09: end for

Step 10: return feasible
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Algorithm 1: Geometrical Feasibility Algorithm (Part (m+ 1) is the reaming part)
m+ 1 is the length of the remaining assembly subset (i.e., we are to evaluate the feasibility
of the m" part in sequence), D = the total number of directions, N = the total number of parts,
GFOD_Transpose = the GFOD matrix transpose, and S =the disassembly sequence.
Step 01: part_id = S[m)]
Step 02: direction = int(“1”xd, 2)
Step 03: For k=m—+1 to N
Step 04: next_part_id = S[k]
Step 05: direction = BINARY _AND (direction, GFOD_Transpose[next_part_id, part_id])
Step 06: if direction =10
Step 07: return infeasible
Step 08: End if
Step 09: End for
Step 10: return feasible






